

### Change Order [TX-18|154A-001]

Change Order No. 001

**Date:** May 27, 2020

**Project Name:** Williamson County Geo-Redundant Prime Site Project

Customer Name: Williamson County Emergency Services

Customer Project Mgr: Paul Swisher

#### The purpose of this Change Order is to:

This change order de-scopes equipment and services that were included in the project and are no longer needed due to the County selecting the Cedar Park South (CPS) site as the location for the Geo-Redundant prime equipment. This credit is offset by additional equipment along with services to remediate the Prime Site tower and perform CPS tower mapping services. The net of these changes are \$0 as detailed below.

Contract # WILCO PO No. 173494 Contract Date: 12/13/2019

In accordance with the terms and conditions of the contract identified above between Williamson County and Motorola Solutions, Inc., the following changes are approved:

**Contract Price Adjustments** 

act i fice Adjustifierits	
Original Contract Value:	\$1,893,294.00
Previous Change Order amounts for Change Order numbers 000 through 000	\$ 0.00
This Change Order:	\$ 0.00
New Contract Value:	\$1,893,294.00

**Completion Date Adjustments** 

Original Project Completion Date:	12/31/2020
Current Completion Date prior to this Change Order:	5/31/2021
New Completion Date:	5/31/2021



W		Geo-Redundant Prime Site Equipment round = deleted items & Green Back			Redesign
					Extended (15%
QΤΥ	NOMENCLATURE	DESCRIPTION	UNIT LIST	EXT LIST	Discount)
1	TRN7343	SEVEN AND A HALF FOOT RACK	\$495.00	\$495.00	\$420.
1	CLN1869	2930F 48-PORT SWITCH	\$9,600.00	\$9,600.00	\$8,160.
1	DLN6966	FRU: GCP 8000/GCM 8000/GPB 8000	\$2,750.00	\$2,750.00	\$2,337.
1	DS256181	DC SYS FP2-48/600- 2BD & SPW/WEB	\$11,515.00	\$11,515.00	\$9,787.
16	DS241115105	RECTIFIER, FLATPACK 2 48/2000 HE MEDIA INVERTER 2I 1PH W/NEMA SOCKET	\$860.00	\$13,760.00	\$11,696
2	DS331007	48VDC/120VAC	\$3,145.00	\$6,290.00	\$5,346.
4	DS275843	INVERTER, 1.5KVA, 120VAC, 48VDC INVERTER MOD	\$1,525.00	\$6,100.00	\$5,185
2	DS222707	48V 2000AH BATTERY SET #DDM125-33	\$41,413.00	\$82,826.00	\$70,402
2	DS083E50266600	BRKR 100A SINGLE POLE (ONE PANEL POSITION).	\$38.00	\$76.00	\$64.
15	DS502653	BREAKER 10A 1P AUX 5/16 BULLET 150A 2P BREAKER KIT INCLUDES: BUS PAD KIT FOR	\$38.00	\$570.00	\$484
2	DS267783	2P BREAKERS	\$135.00	\$270.00	\$229
3	DSSTS16002SR00035	AC Static SW	\$1,123.00	\$3,369.00	\$2,863.
3	DS48DCWB122X100A1	DC Static SW	\$6,094.00	\$18,282.00	\$15,539
2	DSMX104PREMDCBNDL	MX104 PREMIUM BNDL 4MIC SLOTS 2PS PWR CORD AC C15M STRAIGHT NEMA N5-15 TO	\$17,250.00	\$34,500.00	\$29,325
4	DSBHXCBLPWRC15M	HIGH TEMP 20X10/100/1000 MIC FOR MX REQ OPTICS SOLD	\$48.50	\$194.00	\$164
4	DSBHXMIC3D20GESFP	SEPARATELY JUNIPEROPTICS=SFP-10/100/1000BASE-T GB	\$4,860.00	\$19,440.00	\$16,524
12	DSBHXSFP1GEFEET	COPPERRJ45 MODULE JUNIPERSUPPORT=MX104,HW-	\$213.00	\$2,556.00	\$2,172
2	DSBHXMX104MX5NDSVC	NBDADVR,+SWSUPPORT=1YR PDU, AC EDGE RACK MOUNT DISTRIBUTION PANEL,	\$2,360.00	\$4,720.00	\$4,012
2	DS11011173	220-240VAC 60A BREAKER, 10 AMP, CB UL 489 LISTED FOR AC EDGE	\$2,524.00	\$5,048.00	\$4,290
24	DS3750296	II (1101-1188) PDU, 120V HARDWIRE (8) 20A OUTLET PDU WITH	\$64.00	\$1,536.00	\$1,305
2	DSOP820B	TYPE 3 SAD PROTECTION	\$938.00	\$1,876.00	\$1,594
	Total for equipme	nt deleted from equipment list (credit)		\$225,773.00	\$191,907.
1	DSSP4KCDPD50B1	50 AMP BREAKER FOR TYPE CDPD	\$53.00	\$53.00	\$45
1	DSSP4KCDPD80B1	80 AMP BREAKER FOR TYPE CDPD 48 VDC 19" SPLIT BUS BREAKER PANE WITH REAR	\$53.00	\$53.00	\$45
1	DSBPV1948V14RC	PROTECTIVE COVER	\$1,268.00	\$1,268.00	\$1,077
14	DSSP4KHAM5B1A	5A CIRCUIT BREAKERS	\$53.00	\$742.00	\$630
1	DSLMHF7548VZE1T	48V, 75A LMHF RECTIFIER (T)	\$2,028.00	\$2,028.00	\$1,723
1	DS502657	BREAKER 30A 1P AUX 5/16 BULLET	\$38.00	\$38.00	\$32
3	0784469Y02	BRKT, CBL SUPPORT CPI 40160-072, VERTICAL RACK BUSBAR, 1/4INW X	\$110.00	\$330.00	\$280
1	DS445440	5/8INH X 72I L	\$181.00	\$181.00	\$153
6	DSIGSFP1GEFE	SFP 10/100/1000 COPPER	\$227.00	\$908.00	\$771
		Total for New Equipment to be Ordered		\$5,601.00	\$4,760.
		Total Credit to Williamson County			\$187,146.



#### Change Order [TX-18|154A-001]

#### Changes in Services:

Mapping for the CPS tower site has been added to the scope of this project. This mapping is necessary to perform the structural analysis that is required.

The Prime Site tower failed the structural analysis and therefore needs to be remediated in order to support the microwave dishes that are required. This change order includes the tower remediation design and the tower remediation work (including fabrication of materials).

The scope and dollars for structural analysis at the Williamson County Prime site tower is being removed due to Williamson County contracting the work outside of this project.

Schedul	e Cl	nang	es:

The expected project end date is now 5/31/21 when the tower Prime Site remediation work is included in the schedule.

Pricing Changes:	
No change from Contract.	
Customer Responsibilities:	
No change from Contract.	
Payment Schedule for this amendment:	
No changes.	75990
<del></del>	

Unless amended above, all other terms and conditions of the Contract shall remain in full force. IN WITNESS WHEREOF the parties have executed this Amendment as of the last date signed below.

Motorola	-2	Customer		
Solutions, Inc.	$\Lambda$ 1			
Ву:	Marco	By:	Judge bill Grave	Bill Gravell Jr. HIJr. (Jun 30, 2020 14:36 CDT)
Printed Name:	MARC JOHNSON	Printed Name:	Judge	Bill Gravell Jr.
Title:	Rejunal Sevice Min	Title:	Count	y Judge
Date:	6/18/2020	Date:	Jun 30	0, 2020
	7			
Reviewed by: J	ames Sullivan	27322 - 27 27 28 28 28 28 28 28 28 28 28 28 28 28 28	Date:	05/27/2020
Mo	otorola Solutions Project Manage	r		

# Agenda Item #26 6-30-20 (Geo Prime Change Order #1)

Final Audit Report 2020-06-30

Created: 2020-06-30

By: Thomas Skiles (blake.skiles@wilco.org)

Status: Signed

Transaction ID: CBJCHBCAABAAMNvzfwb\_ZNZabGXaheGWrm3\_67PQKyR8

## "Agenda Item #26 6-30-20 (Geo Prime Change Order #1)" History

- Document created by Thomas Skiles (blake.skiles@wilco.org) 2020-06-30 3:32:35 PM GMT- IP address: 66.76.4.65
- Document emailed to aschiele@wilco.org for delegation 2020-06-30 3:33:14 PM GMT
- Email viewed by aschiele@wilco.org

  2020-06-30 5:08:30 PM GMT- IP address: 23.103.200.254
- Document signing delegated to Judge Bill Gravell Jr. (bgravell@wilco.org) by aschiele@wilco.org 2020-06-30 5:08:45 PM GMT- IP address: 66.76.4.65
- Document emailed to Judge Bill Gravell Jr. (bgravell@wilco.org) for signature 2020-06-30 5:08:45 PM GMT
- Email viewed by Judge Bill Gravell Jr. (bgravell@wilco.org) 2020-06-30 7:35:50 PM GMT- IP address: 23.103.201.254
- Document e-signed by Judge Bill Gravell Jr. (bgravell@wilco.org)

  Signature Date: 2020-06-30 7:36:16 PM GMT Time Source: server- IP address: 66.76.4.65
- Signed document emailed to aschiele@wilco.org, Judge Bill Gravell Jr. (bgravell@wilco.org), Thomas Skiles (blake.skiles@wilco.org), Andy Portillo (andy.portillo@wilco.org), and 1 more 2020-06-30 7:36:16 PM GMT

